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Sr Questions Answers Choice

1 Which of the following is not type of bus?
A. Data bus
B. Time bus
C. Address bus
D. Control bus

2 The order of stack is;
A. FIFO
B. LIFO
C. GIGO
D. FIGO

3 There are ______type of accumulative registrar.
A. 2
B. 3
C. Four
D. None

4 The output of Interpreter is called;
A. Source code
B. Object code
C. Unicode
D. None

5 Which one is not a type of ROM?
A. PROM
B. EPROM
C. EEPROM
D. FPROM

6 Usually RAM has______types.
A. 2
B. 3
C. 4
D. 5

7 A set of electrical path used to transfer data is called;
A. Monitor
B. Bus
C. Computer clock
D. None

8 The extension of an executable file is;
A. .xis
B. .doc
C. .ext
D. .exe

9 Which of the following is not a secondary storage device?
A. CD-ROM
B. Hard Disk
C. DVD
D. CPU

10 Which one is faster?
A. RAM
B. Cache
C. ROM
D. Hard Disk

11 The step that performs the actions given in the instructions is called;
A. Fetch
B. Calculate
C. Decode
D. Execute

12 CPU includes all of the following components except
A. Primary storage
B. ALU
C. CU
D. Registrar

13 The storage capacity of zip disk is up to.
A. 1000 GB
B. 1000 Bytes
C. 1000 MB
D. 1000 KB

14 A location inside a CPU where it can hold data temporarily is called;

A. Memory

B. Cache
C. Flag
D. Registrar

15 How many times the storage capacity of CD-Rom is greater than floppy disk
A. 10 times
B. 100 times
C. 1000 times
D. 10000 times




